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Name: Date:

Teacher: Class:

Find the Secret Trail 501

What is a bow that is impossible to tie? A rainbow.
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Find the trail of numbers that end in the number in the
Finish square. Make only vertical or horizontal moves.

10|l 0 |2 |7 |sat | 5 |4 |6 |1
6 | 2 | 0 | 2 1|5 |6 |3
stat | 6 | 3 | 1 | 9 7 |2 |3 |2
8 | 2 |8 |7 8 | 8|2 |9
1. + Finish | 28 2. + Finish | 27
4 |1 |3 |2 6 | 4 | 6 |10
Stat | 22 | 6 | 3 | 7 4 19 |40
710|710 4 110 | 5 | 9
1 |10 | 2 | 4 |sat |54 | 10| 0 | 8

3_ — Finish 2 4 — Finish A

© Facilitators Ferriswheel WS#:Trails 501 Score:



Answer Key

Date:

Teacher:

Class:

Find the Secret Trail 501

What is a bow that is impossible to tie? A rainbow.

Find the trail of numbers that end in the number in the
Finish square. Make only vertical or horizontal moves.

10 0 2 I
6 2 Q
Start 6 3 gr
8 2 8 '}
1 o+ Finish 23
4 1 3 2
Start 22 6 3 7
¥ 0 o 0
1 10 2 /
3. — Finish | 9

Start

Start

) 4 6 1
5 | 6 | 3
7 2 3 2
8 | 8 | 2 :
Finish | of7
6 | 4 | 6 |10
4 9 4 9
4 | 10 | 5 Er
5410 | 0 | 8
Finish l

© Facilitators Ferriswheel

WS#:Trails 501

Score:




